
SAP ABAP table OIAQB {Exchange Movements Index}

OIAQB

MANDT [CLNT (3)]

OIEXGPTR [CHAR (10)]

BUDAT [DATS (8)]

SPMON [NUMC (6)]

SPTAG [DATS (8)]

SPWOC [NUMC (6)]

SPBUP [NUMC (6)]

OIEXGNUM [CHAR (10)]

OIEXGTYP [CHAR (4)]

OIMATREF [CHAR (20)]

MATNR [CHAR (18)]

OIBASPROD [CHAR (18)]

WERKS [CHAR (4)]

MBLNR [CHAR (10)]

MJAHR [NUMC (4)]

ZEILE [NUMC (6)]

OIC_LIFNR [CHAR (10)]

OIC_DCITYC [CHAR (4)]

OIC_DCOUNC [CHAR (3)]

OIC_DREGIO [CHAR (3)]

OIC_DLAND1 [CHAR (3)]

OIC_OCITYC [CHAR (4)]

OIC_OCOUNC [CHAR (3)]

OIC_OREGIO [CHAR (3)]

OIC_OLAND1 [CHAR (3)]

OIC_MOT [CHAR (2)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 OIAQB-OIC_LIFNR = LFA1-LIFNR 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OIAQB-OIC_DLAND1 = T005-LAND1 
0..N

0..N
 OIAQB-OIC_OLAND1 = T005-LAND1 0..N

0..N

T005E

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

 OIAQB-OIC_DCOUNC = T005E-COUNC 
0..N

0..N  OIAQB-OIC_OCOUNC = T005E-COUNC 0..N

0..N

T005G

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

CITYC [CHAR (4)]

 OIAQB-OIC_DCITYC = T005G-CITYC 

0..N

0..N

 OIAQB-OIC_OCITYC = T005G-CITYC 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 OIAQB-OIC_DREGIO = T005S-BLAND 

0..N

0..N

 OIAQB-OIC_OREGIO = T005S-BLAND 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 OIAQB-OIC_MOT = TVTR-VKTRA 

0..N

0..N


